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1. F7ad330 5 nEE
1.1 micro:bit DEKRIERE

(178 1-1]
(RTFEI7AILE :microbit—py-reil-1-1)
from microbit import *

Heart =
Image(”09090:99999:99999:09990:00900)
display.show(Heart)

(RTFEIT7AIL4E :microbit—py-reil-1-2)
from microbit import *

Heart
Image(”09090:99999:99999:09990:00900)
while True:

display.show(Heart)

sleep(500)

display.clear()

sleep(500)

1.2 7073 L0ER(ER, 8Y5RL)

(178 1-2]
(RFEIT7A LA :microbit-py-reil-2)
from microbit import *

9)
9)
9)
9)
9)

display.set_pixel(2,
display.set_pixel(2,
display.set_pixel(2,
display.set_pixel(2,
display.set_pixel(2,

PO

[%517E 1-3]
(RTFEIT7A L4 :microbit-py—-reil-3)
from microbit import *

for vy in range(0, 5):
display.set_pixel(2, vy, 9)

(& 1-1]
(RFEI7AIL4A :microbit—-py-reni-1)

from microbit import *

for x in range(0, 5):
display.set_pixel(x, 2, 9)

(178 1-4])
(RTFEIT7A LA :microbit-py-reil-4)
from microbit import *

for x in range(0, 5):
display.set_pixel(x, 4-x, 9)

[#&E 1-2]

(RTFET7A L% :microbit—-py-ren1-2)
from microbit import *

for x in range(0, 5):
display.set_pixel(x, x, 9)

(& 1-3)
(RTFET7A L% :microbit-py-ren1-3-1)
from microbit import *

for x in range(0, 5):
display.set_pixel(x, x, 9)

for x in range(0, 5):
display.set_pixel(x, 4-x, 9)

(RTFET7A L4 :microbit-py-ren1-3-2)
from microbit import *

for x in range(0, 5):
display.set_pixel(x, x, 9)
display.set_pixel(x, 4-x, 9)

(5138 1-5]
(RTFEIT7AIL4E : microbit—py—reil-5)
from microbit import *

for x in range(0, 5):
for vy in range(0, 5):
display.set_pixel(x, vy, 9)
sleep(100)

(5138 1-6]
(BRTFEIT7AIL4A : microbit—py—reil—6)
from microbit import *

x=0

while x <= 4:
display.set_pixel(x, 4-x, 9)
x +=1

1.3 7O S LOER (HIK)

({58 1-7)

(RTFEIT7A L4 :microbit-py-reil-7)
from microbit import *

import random

while True:
¢ = random.randint(0, 1)
display.scroll(str(c))
if c ==0:
display.show(Image. DIAMOND_SMALL)
else:
display.show(Image.SQUARE)
sleep(500)

(5138 1-8]
(BRTFEIT7AIL4A : microbit—py—reil—8)



from microbit import *
import random

Scissors =
Image(”99009:99090:00900:99090:99009)

while True:
¢ = random.randint(0, 2)
display.scroll(str(c))
if c ==
display.show(Image. DIAMOND_SMALL)
elif ¢ ==
display.show(Scissors)
else:
display.show(Image.SQUARE)
sleep(500)

[#&E 1-4])
JasSLiEL

EE MRE

(1)

(RTFEIT7A LA :microbit—-py—ens1-1)
from microbit import *

for x in range(0, 5):
for v in range(0, 5):
if x ==vy:
display.set_pixel(x, vy, 9)
sleep(100)

(2)(a)
(RTFEIT7AILE :microbit—-py—ens1-2-1)
from microbit import *

for x in range(0, 5):
for v in range(0, 5):
if 4—x <=y:
display.set_pixel(x, vy, 9)
sleep(500)

(2)(b)
(RTFEIT7A L4 :microbit-py—ens1-2-2)
from microbit import *

for x in range(0, 5):
for v in range(0, 5):
ifx==yord4d-x==y:
display.set_pixel(x, vy, 9)
sleep(500)

(2)(c) RTET 7 A IL 4 :microbit-py—ens1-2-3)
from microbit import *

for x in range(0, 5):
for v in range(0, 5):
if x==2o0ry==2:
display.set_pixel(x, vy, 9)

sleep(500)

(3)

(RTFEIT7AIL4EA :microbit—-py—ens1-3)
from microbit import *

import random

Scissors =
Image(”99009:99090:00900:99090:99009”)
while True:
if accelerometer.was_gesture(”shake”):
¢ = random.randint(0, 2)
display.scroll(str(c))
if c ==0:
display.show(Image. DIAMOND_SMALL)
elif c == 1:
display.show(Scissors)
else:
display.show(Image.SQUARE)

2. 70933050 A (B, &5)
21 CoAlTAT—LA

(I8 2-1]

(BRTFEIT7AIL4A : microbit—py-rei2—1)
from microbit import *

import random

Scissors =
Image(”99009:99090:00900:99090:99009”)

def hyou;ji():
if c == 0:
display.show(Image. DIAMOND_SMALL)
elif c == 1:
display.show(Scissors)
else:
display.show(Image.SQUARE)

while True:

if button_a.is_pressed():
a = random.randint(0, 2)
display.scroll(str(a))
c=a
hyouji()

if button_b.is_pressed():

= random.randint(0, 2)

display.scroll(str(b))
c=b
hyouji()

(178 2-2]

(BRTFEIT7AIL4A : microbit—py-rei2—2)
from microbit import *

import random

Scissors =



Image(”99009:99090:00900:99090:99009”)

def hyouji():
if c ==
display.show(Image. DIAMOND_SMALL)

elif ¢ == 1:

display.show(Scissors)
else:

display.show(Image.SQUARE)
sleep(500)
display.clear()

while True:
if button_a.is_pressed():
a = random.randint(0, 2)
display.scroll(str(a))
c=a
hyouji(a)
if button_b.is_pressed():
b = random.randint(0, 2)
display.scroll(str(b))
c=b
hyouji()
sleep(1000)
if button_a.is_pressed() and
button_b.is_pressed():
d=(@-b+3)%3
if d == 2:
display.scroll(CA")
elif d == 1:
display.scroll('B’)
else:
display.scrollCAB")

(#%& 2-1]

(RFEI7A L4 :microbit—-py-ren2-1)
from microbit import *

import random

Scissors =
Image(”99009:99090:00900:99090:99009)

def hyouji():
if c ==
display.show(Image. DIAMOND_SMALL)
elif ¢ == 1:
display.show(Scissors)
else:
display.show(Image.SQUARE)
sleep(500)
display.clear()

while True:
if button_a.is_pressed():
a = random.randint(0, 2)
display.scroll(str(a))
c=a
hyouji()

if button_b.is_pressed():
display.scroll(str(b))

c=b

hyouji()

sleep(1000)

if button_a.is_pressed() and

button_b.is_pressed():

d=(@a-b+3)%3

if d==2:
display.scrollCA'+'Kachi’)

elif d == 1:
display.scroll(’B'+'Kachi’)

else:
display.scroll(Hikiwake’)

22 MHTHT—L

(518 2-3)

(RTFET7A L% :microbit—-py-rei2—3)
from microbit import *

import random

kotae = random.randint(0, 2)
display.scroll(str(kotae))

while True:
if button_a.is_pressed():
kouho = random.randint(0, 2)
display.scroll(str(kouho))
if button_b.is_pressed():
if kotae == kouho:
display.show(Image.HEART)
else:
display.show(Image.NO)

({58 2-4)

(RTFET7A L4 :microbit-py-rei2—4)
from microbit import *

import random

def hantei():

if kouho > kotae:
display.show(Image. ARROW_S)
sleep(1000)
display.clear()

elif kouho < kotae:
display.show(Image. ARROW_N)
sleep(1000)
display.clear()

else:
display.scroll(str(kouho))
display.clear()
display.scroll(Hit")

kotae = random.randint(0, 4)
display.scroll(str(kotae))
kouho = random.randint(0, 4)
display.scroll(str(kouho))



hantei()

while True:
if button_a.is_pressed():
kouho += 1
hantei()
if button_b.is_pressed():
kouho —= 1
hantei()

(#%& 2-2)

(RTFEIT7A4IL4A :microbit—py-ren2-2)
from microbit import *

import random

def hantei():

if kouho > kotae:
display.show(Image. ARROW_S)
sleep(1000)
display.clear()

elif kouho < kotae:
display.show(Image. ARROW_N)
sleep(1000)
display.clear()

else:
display.scroll(str(kouho))
display.clear()
display.scroll("Hit™)

kotae = random.randint(0, 4)
display.scroll(str(kotae))
kouho = random.randint(0, 4)
if (kouho == kotae):

kouho = random.randint(0, 4)
display.scroll(str(kouho))
hantei()

while True:
if button_a.is_pressed():
kouho += 1
hantei()
if button_b.is_pressed():
kouho —= 1
hantei()

2.3 US57MER

(518 2-5)
(RFEIT7A LA :microbit-py-rei2-5)
from microbit import *

a=1[321,5, 4]
for i in range(0, 5):
display.scroll(str(ali]))
for y in range(0, 5):
for x in range(alyl]):
display.set_pixel(x, vy, 9)

(B D5 #%ERVIE(QSL)]

(RTFEIF7AIL4E : microbit—-py—c23—kansu)

from microbit import *

def sum(a, b):
s = atb return s

¢ = sum(3, 5)
display.scroll(”3+5=")
display.scroll(str(c))

(#&E 2-3)
(RTFET7A L4 :microbit—-py-ren2-3)
from microbit import *

a=[0]*5
al0] =3
al1l]l =2
al2] =1
al3]=5
al4] =4

for i in range(0, 5):
display.scroll(str(alil))
display.clear()
for vy in range(0, 5):
for x in range(aly]):
display.set_pixel(x, vy, 9)

(#&E 2-4)
(RTFET7A L% :microbit—-py-ren2—-4)
from microbit import *

a=1[1,2]

b= ["AB”. “CD"]

for i in range(0, 2):
display.scroll(str(alil))

for j in range(0, 2):
display.scroll(str(b[j]))

({5138 2-6]
(BRTFEIT7AIL4A : microbit—py—rei2—6)
from microbit import *

a=1[3,2 1,5, 4]

for i in range(0, 5):
display.scroll(str(alil))

display.clear()

for x in range(0, 5):
for z in range(al[x]):
y=4-2z
display.set_pixel(x, vy, 9)
sleep(500)

2.4 10 EHHID 2 EHADLEH

[1hIRE 2-7]



(RFEIT7A LA :microbit-py-rei2-7)
from microbit import *
import math

xp = [0, 0, 0, 0, 0]

def DtoB(k):
for j in range(5, 0, —1):
xpli-11 =k % 2
k = math.floor(k / 2)

Plot()
def Plot():
for i in range(5, 0, —1):
if(xpli-1] == 1):
x =i-1

for vy in range(0, 5):
display.set_pixel(x, vy, 9)
sleep(1000)
display.clear()

for k in range(32):
DtoB(k)

EEMRE

(1)

(RFEIT7A LA :microbit—-py—ens2-1)
from microbit import *

a=1[3,21,5,4]

def Graph_HO:
for v in range(0, 5):
for x in range(aly]):
display.set_pixel(x, vy, 9)
sleep(500)

def Graph_V():
for x in range(0, 5):
for z in range(a[x]):

yv=4-2z
display.set_pixel(x, vy, 9)
sleep(500)
def plot():
Graph_H()
display.clear()
Graph_V()

for i in range(0, 5):
display.scroll(str(ali]))

display.clear()

plot()

(2)
(RFEIT7A L4 :microbit—-py—ens2-2)
from microbit import *

a=1[3,21,5, 4]

def plot(g):
if g==0:
for y in range(0, 5):
for x in range(aly]):
display.set_pixel(x, vy, 9)
sleep(500)
else:
for x in range(0, 5):
for z in range(a[x])
y=4-2z2
display.set_pixel(x, y, 9)
sleep(500)

for i in range(0, 5):
display.scroll(str(alil))

plot(0)
display.clear()
plot(1)

3. EUHICKBEBI-HETOS S L
3.1 micro:bit DEFEE Y & HlH

(58 3-1]
(BRTFEIT7AIL4A : microbit—py-rei3—1)
from microbit import *

while True:
display.scroll(display.read_light_level())
display.clear()
sleep(1000)

(& & 3-1]
(RTFET7A L4 :microbit-py-ren3—1)
from microbit import *

while True:
display.scroll(temperature())

# display.scroll(accelerometer.get_x())

# display.scroll(compass.heading())
display.clear()
sleep(1000)

3.2 & D

(51 %E 3-2]

(BRFEI7AILA : microbit—py-rei3—2)
from microbit import *

import music

while True:
music.play("C4")
music.play("D4”)



music.play("E4”)
music.play("R”)

[#%& 3-2])

(RTFEIF 74 )L :microbit-py-ren3-2)
from microbit import *

import music

freq = 262

while True:
music.pitch(freq, 1000)
music.pitch(freq*2, 1000)
music.pitch(freq*4, 1000)

(#% & 3-3]

(RTFETF74IL4A :microbit—py-ren3-3)
from microbit import *

import music

freq = 262

while True:
music.pitch(freq, 1000)
music.pitch(freq*2, 1000)
music.pitch(freq*3, 1000)

[ 7& 3-3]

(RTFET7A4IL4A :microbit—py-rei3—3)
from microbit import *

import music

while True:
if button_a.is_pressed():
music.play(music.POWER_UP)

(#% & 3-4])

(RTFEIT74IL4A :microbit—py-ren3-4)
from microbit import *

import music

while True:
if button_a.was_pressed():
music.play(music.DADADADUM)
elif button_b.was_pressed():
music.play(music.ENTERTAINER)

33 BEEUHZE/Eo-FA - HIH

[#5i%& 3-4]

(RTFEIT7A LA :microbit-py—-rei3—4)
from microbit import *

import music

while True:
reading = accelerometer.get_x()/20
if reading < —-10:

music.pitch(262, 500)
elif reading > 10:

music.pitch(294, 500)
else:

music.pitch(0, 10)

(# % 3-5]

(RTFET7A L% :microbit—-py-ren3-5)
from microbit import *

import music

while True:
x = accelerometer.get_x()
x =x/5
X = x+262
X = int(x)

music.pitch(x, 500)

3.4 MMkt EMEoEHR - &I

(518 3-5]
(BRFEI7AILA : microbit—py-rei3-5)
from microbit import *

compass.calibrate()

while True:

value = compass.heading()

if value < 45:
display.show(”"N")

elif value > 315:
display.show(”"N")

else:
display.show(” )

(5% 3-6]
(BRFEI7AIL4A : microbit—py—rei3—6)
from microbit import *

compass.calibrate()

while True:
value = compass.heading()
if value < 45:
display.show(Image. ARROW_N)
elif value < 135:
display.show(Image. ARROW_W)
elif value < 225:
display.show(Image. ARROW_S)
elif value < 315:
display.show(Image. ARROW_E)
else:
display.show(Image. ARROW_N)

(#% % 3-6]
(RTFET 74 JL4 :microbit—-py-ren3—6)
from microbit import *



compass.calibrate()

while True:
value = compass.heading()
if value < 23:
display.show(Image. ARROW_N)
elif value < 68:
display.show(Image. ARROW_NW)
elif value < 113:
display.show(Image. ARROW_W)
elif value < 158:
display.show(Image. ARROW_SW)
elif value < 203:
display.show(Image. ARROW_S)
elif value < 248:
display.show(Image. ARROW_SE)
elif value < 293:
display.show(Image. ARROW_E)
elif value < 338:
display.show(Image. ARROW_NE)
else:
display.show(Image. ARROW_N)

3.5 Xt ZEMEoMLER - HIE

[$517E 3-7)
(RTFEIFT7AILE :microbit—py-rei3-7)
from microbit import *

while True:
if display.read_light_level() < 10:
pin0.write_digital(1)
else:
pin0.write_digital(0)

EEME

(1)
(RTFEIT7A L4 :microbit-py—ens3-1)
from microbit import *

def calc(value):

ans = value/100
ans = int(ans)
ans = ans+2
if ans > 4:

ans = 4
elif ans < 0:

ans = 0
return ans

while True:
value = accelerometer.get_x()
x = calc(value)
value = accelerometer.get_y()
y = calc(value)

display.show(” ™)
display.set_pixel(x, vy, 9)
sleep(300)

(2)
(BRTFEIT7AIL4A :microbit—-py—ens3-2)
from microbit import *

s=0

while True:
if button_a.was_pressed():
if s ==0:
s=1
else:
s=0
if s ==0:
display.show(” )
else:
display.show(Image

(”99999:99999:99999:99999:99999"))

4. EHEBEEZAMALETOIS A
41 EBBEEOFH

(178 4-1]

(BRTFEIT7AIL4A : microbit—py—reid—1)
from microbit import *

import radio

radio.config(group=1)
radio.on()

while True:
if button_a.was_pressed():
radio.send(’hello’)
sa = radio.receive()
if sa != None:
display.scroll(sa)

42 EHFBEZFALEZCLATAT —LA

(5178 4-2]

(BRTFEIT7AIL4A : microbit—py—rei4-2)
from microbit import *

import radio

import random

radio.config(group=1)
radio.on()

while True:
if button_a.was_pressed():
a = random.randint(0, 2)
display.scroll(str(a))
radio.send(str(a))



sb = radio.receive()

if sb '= None:
sleep(1000)

if button_b.was_pressed():

if str(a) == sb:
display.show(Image.HEART)
else:

display.show(Image.NO)

[%57E 4-3)

(RFEIT7A L4 :microbit-py-rei4—3)
from microbit import *

import radio

import random

radio.config(group=1)
radio.on()

Scissors =
Image(”99009:99090:00900:99090:99009)

def hyouji():
if c == 0:
display.show(Image. DIAMOND_SMALL)
elif ¢ == 1:
display.show(Scissors)
else:
display.show(Image.SQUARE)
sleep(100)

o o o
1
\OOO

while True:
if button_a.was_pressed():
a = random.randint(0, 2)
c=a
hyouji()
if button_b.was_pressed():
radio.send(str(a))
sb = radio.receive()
if sb '= None:
d=1(a-int(sb) +3) % 3
if d == 2:
display.show(Image . HAPPY)
elif d == 1:
display.show(Image.SAD)
else:
display.show(Image.CONFUSED)
sleep(500)

(IR7FE T 74 L4 :microbit—py—rei4—3-1)
BE% % def hyouji(c): [CL=1BE
c =0 #HI
c=a ZHI
hyouji() & hyouji(a) [ZZEE

[#E 4-3]
TngSLHL
radio.config(group=1)2Z B L TEHEIT 5,

4.3 S5O H

({5 %8 4-4)
(BRFEIT7AILA : microbit—py-reid—4)
from microbit import *

while True:
pin2.write_digital(1)
sleep(4000)
pin2.write_digital(0)
pinl.write_digital(1)
sleep(1000)
pinl.write_digital(0)
pin0.write_digital(1)
sleep(5000)
pin0.write_digital(0)

[#FE 4-2)
(BRFEI7AILA :microbit—-py-rend-2-1)
from microbit import *

while True:
pin2.write_digital(1)
sleep(4000)
pin2.write_digital(0)
pinl.write_digital(1)
sleep(1000)
pinl.write_digital(0)
pinO.write_digital(1)
sleep(5000)
pin0.write_digital(0)

(BRFEI7AILA : microbit—-py-rend—2-2)
from microbit import *

while True:
pinO.write_digital(1)
sleep(5000)
pin0.write_digital(0)
pin2.write_digital(1)
sleep(4000)
pin2.write_digital(0)
pinl.write_digital(1)
sleep(1000)
pinl.write_digital(0)

44 EHLBEICKBESHOF M

(I8 4-5]

(RTFEIF7AILE :microbit—py-rei4-5)
from microbit import *

import radio



radio.config(group=1)
radio.on()

while True:

pin2.write_digital(1)
radio.send(”2")
sleep(4000)
pin2.write_digital(0)
pinl.write_digital(1)
radio.send(”1”)
sleep(1000)
pinl.write_digital(0)
pin0.write_digital(1)
radio.send("0”)
sleep(5000)
pin0.write_digital(0)

(RTFEIT7A L4 :microbit—py-rei4d-5-2)

(BfEIZ&B1EE)
from microbit import *
import radio

radio.config(group=1)
radio.on()

while True:
pin2.write_digital(1)
radio.send_bytes(2)
sleep(4000)
pin2.write_digital(0)
pinl.write_digital(1)
radio.send_bytes(1)
sleep(1000)
pinl.write_digital(0)
pin0.write_digital(1)
radio.send_bytes(0)
sleep(5000)
pin0.write_digital(0)

[151%E 4-6]

(RFEI7A LA :microbit-py—-rei4—6)

from microbit import *
import radio

radio.config(group=1)
radio.on()

while True:

mes = radio.receive()

if mes == "2":
pin0.write_digital(0)
pinl.write_digital(0)
pin2.write_digital(1)

elif mes == "1":
pin0.write_digital(0)
pinl.write_digital(1)
pin2.write_digital(0)

elif mes == “0":
pin0.write_digital(1)
pinl.write_digital(0)
pin2.write_digital(0)

[$#&3E 4-3]
053 L%EL

[ 4-4]

(REI7A L4 :microbit-py-ren4-4-1)

from microbit import *
import radio

radio.config(group=1)
radio.on()

while True:

pin2.write_digital(1)
radio.send("1”)
sleep(4000)
pin2.write_digital(0)
pinl.write_digital(1)
radio.send(”2")
sleep(1000)
pinl.write_digital(0)
pin0.write_digital(1)
radio.send(”3")
sleep(4000)
radio.send(“4")
sleep(1000)
pin0.write_digital(0)

(REI7A L4 :microbit-py-ren4-4-2)

from microbit import *
import radio

radio.config(group=1)
radio.on()

while True:

msg = radio.receive()

if msg == "1":
pin0.write_digital(1)
pinl.write_digital(0)
pin2.write_digital(0)

elif msg == "2";
pin0.write_digital(1)
pinl.write_digital(0)
pin2.write_digital(0)

elif msg == "3";
pin0.write_digital(0)
pinl.write_digital(0)
pin2.write_digital(1)

elif msg == "4";
pin0.write_digital(0)
pinl.write_digital(1)
pin2.write_digital(0)



(%178 4-7)

(REFET 74 L% :microbit-py-rei4-7-1)
(H&EA)

from microbit import *

import radio

radio.config(group=1)
radio.on()
pin2.write_digital(1)
pinl.write_digital(0)
pin0.write_digital(0)

while True:
msg = radio.receive()
if msg == "1";

sleep(2000)
pin2.write_digital(0)
pinl.write_digital(1)
pin0.write_digital(0)
sleep(2000)
pin2.write_digital(0)
pinl.write_digital(0)
pin0.write_digital(1)
radio.send("1”)
sleep(4000)
radio.send(“0”)
pin2.write_digital(1)
pinl.write_digital(0)
pin0.write_digital(0)

(RTFET 74 L% :microbit-py-rei4-7-2)
(FHITER)

from microbit import *

import radio

radio.config(group=1)
radio.on()
pin2.write_digital(0)
pinl.write_digital(0)
pin0.write_digital(1)

while True:

if button_a.was_pressed():
radio.send("1”)

msg=radio.receive()

if msg =="1";
pin2.write_digital(1)
pinl.write_digital(0)
pin0.write_digital(0)

elif msg =="0":
pin2.write_digital(0)
pinl.write_digital(0)
pin0.write_digital(1)

EEME

TnySLiL
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5 7ZIIdYXLETOATS A
51 %

(51 %& 5-1]

(BRFEI7AILA :microbit—py—-reid5—1)
from microbit import *

import random

a=1[6,4,23,71,5]
b=0

while True:
if button_a.is_pressed():

b = random.randint(1, 7)

display.scroll(str(b))

sleep(1000)

for i in range(len(a)):

if b == alil:

display.show(Image.HEART)
display.scroll(i+1)
display.scroll(” BanMe!”)
break

(& 5-1]
(BRFEI7AILE : microbit—-py-ren5-1)
from microbit import *

a=1[6,4,23,71,5]
b=0

while True:
if button_a.was_pressed():
b=((Mm+1)%10
display.scroll(str(b))
if button_b.is_pressed():
sh = -1
for i in range(len(a)):
if ali] == b:
sh =i
break
if sh >=0:
display.show(Image.HEART)
display.scroll(sh+1)
display.scroll(” BanMe!”)
else:
display.show(Image.NO)

(51 %& 5-2]

(BRFEIT7AILA : microbit—py—-rei5—2)
from microbit import *

import random

a=["red”, “green”, "blue”, “cyan”, “magenta”,

“yellow”, “white”]



while True:
if button_a.is_pressed():

¢ = alrandom.randint(0, 6)]

display.scroll(c)

for i in range(len(a)):

if ali] == c:

display.show(Image.HEART)
sleep(500)
display.scroll(c)
sleep(100)
display.scroll(str(i+1))
sleep(500)
display.scroll(” BanMe!”)

[ 7& 5-3]

(RTFET 74 IL4A :microbit—py-rei5—-3)
from microbit import *

import random

a=1[1,234,5,6,7]

while True:
if button_a.is_pressed():
b = a[random.randint(0, 6)]
display.scroll(str(b))
sleep(500)
i=0
j=6
while i <= j:
m = int((i+j)/2)
if alm] > b:
display.show(Image. ARROW_W)
sleep(500)
j=m-1
elif a[m] < b:
display.show(Image. ARROW_E)
sleep(500)
i=m+1
else:
display.show(Image.HEART)
break
display.clear()
sleep(500)

[#&3E 5-2]
JaoSLiEL

(151 %8 5-4)

(RTFEIT7A4IL4E :microbit—py—-rei5—4)
from microbit import *

import random

a=["blue”, “cyan”, “green”, “magenta”, ”

“white”, “yellow”]

while True:
if button_a.is_pressed():
i=0

11

i=6
b = a[random.randint(0, 6)]
display.scroll(b)
sleep(500)
while i <= j:
m = int((i+j)/2)
if alm] > b:
display.show(Image. ARROW_W)
sleep(500)
j=m-1
elif alm] < b:
display.show(Image. ARROW_E)
sleep(500)
i=m+1
else:
display.show(Image.HEART)
break
display.clear()
sleep(500)

5.2 E5|

(51 %8 5-5)
(BRTFEIT7AIL4A : microbit—py—rei5-5)
from microbit import *

a=1[3,21,5, 4]

for i in range(4, 0, —1):
for j in range(i):
if alj] > al[j+1]:
alj], alj+1] = a[j+1], alj]
for i in range(len(a)):
display.scroll(str(alil))
sleep(1000)

(# % 5-3)
(RTFEIT7A L% :microbit—-py-ren5-3)
from microbit import *

a=1[3,21,5, 4]

def plot():
for x in range(5):
for z in range(al[x]):
y=4-2z
display.set_pixel(x, y, 9)
sleep(100)

for i in range(4, 0, —1):
for j in range(i):
if alj] > al[j+1]:
alj], alj+1] = a[j+1], alj]
plot()

(#E 5-4])
(RTFET7A L% :microbit—-py-ren5-4)
from microbit import *



a= [”gr”' ,,ye,,’ “bI”. “re”]

for i in range(3, 0, —1):
for j in range(i):
if alj] > a[j+11]:
alj], alj+1] = a[j+1], alj]
for i in range(len(a)):
display.scroll(str(ali]))

53 N/ A DIE

[151%E 5-6])

(RTFEIT7A LA :microbit—-py—-rei5—6)

from microbit import *

def hanoi(n, a, b):

ifn> 1:
hanoi(n—-1, a, 6—a-b)

display.show(Image.HEART)
sleep(1000)
display.scroll(str(n))
sleep(1000)
display.scroll(chr(ord('@")+a))
sleep(1000)

display.show(Image. ARROW_S)

sleep(1000)
display.scroll(chr(ord('@')+b))
sleep(1000)
display.clear()
sleep(1000)
ifn>1:

hanoi(n—1, 6-a—b, b)

while True:

if button_a.was_pressed():
n=1
display.scroll(str(n))
sleep(1000)
display.scroll("Mai”)
hanoi(n, 1, 3)
display.scroll("End”)

if button_b.was_pressed():
n=n+1
display.scroll(str(n))
sleep(1000)
display.scroll("Mai”)
hanoi(n, 1, 3)
display.scroll("End”)

[ 5-5]
JasSLiEL

(BIRFUHL(ESL)]

(RTFEIFT7A4IL A :microbit—-py—c23—fact)

from microbit import *

def fact(n):

if n!'=0:
return n * fact(n - 1)
return 1

¢ = fact(5)
display.scroll(str(c))

[#&3& 5-6]
053 L%EL

54 BERFGHOIKEEBE
[15I38 5-7]

(BRTFEIT7AIL4A : microbit—py—rei5-T7)

from microbit import *

s=0
s0=0
s1 =1

def syohin():
display.show(Image. TARGET)
sleep(1000)

while True:
if button_a.was_pressed():

if s == s0:
s = sl

elif s == s1:
syohin()
s =s0
display.clear()

else:

display.show(Image.NO)
display.scroll(str(s))
sleep(500)
display.clear()

[15 38 5-8]

(RTFEIT7AIL4E : microbit—py—rei5—8)

from microbit import *

s=0
s0=0
s1 =1
s2=2

def syohin():
display.show(Image. TARGET)
sleep(1000)

def otsuri():

display.show(Image. DIAMOND_SMALL)

sleep(1000)

while True:
if button_a.was_pressed():
if s == s0:



s = s2
elif s == s1:
syohin()
s =s0
display.clear()
elif s == s2:
syohin()
otsuri()
s =s0
display.clear()
else:
display.show(Image.NO)
display.scroll(str(s))
sleep(500)
display.clear()
if button_b.was_pressed():

if s == s0:
s = sl
elif s == s1:
s = s2
elif s == s2:
syohin()
s =s0
display.clear()
else:

display.show(Image.NO)
display.scroll(str(s))
sleep(500)
display.clear()

EEME
(1)

(RFEI7A LA :microbit—-py—ens5-1)
from microbit import *

a=1[3,21,5,4]

for i in range(4, 0, —1):
k=0
for j in range(1, i+1, 1):
if alj] > alkl:
k=j
ali], a[k] = a[k], ali]
for i in range(0, 5):
display.scroll(str(ali]))

(2)(a)

(RTFEIT7AJLE :microbit—-py—ens5-2-1)

from microbit import *

s=0
s0=0
sl =1
s2=2

def syohin():
display.show(Image. TARGET)

sleep(1000)

while True:
if button_a.was_pressed():
if s == s0:
s = sl
elif s == s1:
s =s2
elif s == s2:
syohin()
s =s0
display.clear()
else:
display.show(Image.NO)
display.scroll(str(s))
sleep(500)
display.clear()

(2)(b)

(RTFEIT7A L4 :microbit—-py—ens5-2-2)

from microbit import *

s=0
s0=0
s1 =1
s2=2
s3=3
s4 =4

def syohin():
display.show(Image. TARGET)
sleep(1000)

def otsuri():

display.show(Image. DIAMOND_SMALL)

sleep(1000)

while True:
if button_a.was_pressed():

if s >= s0 and s <= s2:
s +=2

elif s == s3:
syohin()
s =s0
display.clear()

elif s == s4:
syohin()
otsuri()
s =s0
display.clear()

else:
display.show(Image.NO)

display.scroll(str(s))

sleep(500)

display.clear()

if button_b.was_pressed():

if s >= s0 and s <= s3:

s += 1
13



elif s == s4: radio.on()

s =s0 a=0
syohin() youraddress = “2”
display.clear() myaddress = “1”
else: yad =0
display.show(Image.NO)
display.scroll(str(s)) while True:
sleep(500) if button_a.was_pressed():
display.clear() yad =(yad + 1) % 9

youraddress = chr(48 + yad)
display.scroll(youraddress)

6. BIELTOYS L if button_b.was_pressed():
message = youraddress + myaddress +
6.1 BIEOEX “hello”
radio.send(message)
[f5]%E 6-1] b = radio.receive()
(RTFEIFT7A4IL4A :microbit—py—-rei6—1) if b 1= None:
from microbit import * if myaddress == b[0]:
import radio display.scroll(b[2:])
radio.config(group=1) [##% 6-2]
radio.on() (RTFEIT7A L% :microbit—-py-ren6-2)
from microbit import *
while True: import radio
if button_b.was_pressed():
radio.send(“hello”) radio.config(group=1)
a = radio.receive() radio.on()
if a != None: a=0
display.scroll(a) youraddress = “6”
myaddress = “5”
[##E 6-1] yad =0
(RTFEIFT7A4IL4A :microbit—py-ren6-1)
from microbit import * while True:
import radio if button_a.was_pressed():
yad = (yad + 1) % 10
radio.config(group=1) youraddress = chr(48 + yad)
radio.on() display.scroll(youraddress)
a=0 if button_b.was_pressed():
message = youraddress + myaddress +
while True: “Hello”
if button_b.was_pressed(): radio.send(message)
if a==0: b = radio.receive()
radio.send(“hello”) if b '= None:
a=1 if myaddress == b[0] or "9” == b[0]:
else: display.scroll(b[2:])
radio.send(“world”)
b = radio.receive() 6.3 BEEIE
if b '= None:
display.scroll(b) (5178 6-3]
(RTFET7A L4 :microbit—py-rei6-3)
6.2 RYRT—IIZHBIFTBTRELYI VY from microbit import *

import radio

[151%E 6-2]

(RFEIT7A L4 :microbit-py-rei6-2) radio.config(group=1)
from microbit import * radio.on()

import radio shift = 5
radio.config(group=1) while True:

14



if button_a.was_pressed():
msg = “dream”
meg2 = "
for i in range(len(msg)):
msg2 += chr(ord(msg[i])+shift)
radio.send(msg2)
b = radio.receive()
if b '= None:
display.scroll(b)
display.show(Image.HEART)
sleep(1000)
meg3 = "
for i in range(len(msg)):
msg3 += chr(ord(b[i])-shift)
display.scroll(msg3)

[#% 6-3)
JasSLiEL

(%578 6-4)

(RTFET 74 IL4A :microbit—py-rei6—4)
from microbit import *

import radio

radio.config(group=1)
radio.on()

7
5

omz2z>»
I

1
5
3
7

while True:

if button_a.was_pressed():
x=A*xxE%N
radio.send(str(x))

b = radio.receive()

if b '= None:
y = int(b) ** D % N
display.scroll(str(y))

6.4 I5—KRH

[%517E 6-5)

(RFEI7A LA :microbit—-py—-rei6-5)
from microbit import *

import random

import radio

radio.config(group=1)

radio.on()
data2 = 0
data3 =0

display.clear()

NO_SMALL = Image(
“00000:”
”09090:”

15

“00900:"
“09090:”
“00000”)

def set_data():
data =0
for i in range(4):
data = data + random.randint(0, 1)
data = data << 1
return data

def set_parity(n):

c=0

m=n

for i in range(5):
ifm%2==1:

c=c+1

m=m>> 1

ifch2!=0:
n=n+1

return n

def check_parity(n):
m=n
d=0
for i in range(5):
ifm%2==1:
d=d+1
m=m>> 1
ifd% 2 ==0:
return True
else:
return False

def Rev(x, c):
a=1
aza<<{(c-1)
ifa&x==0:
return a | X
else:
return (a =~ 31) & x

def Plotx(k, n):
for i in range(4, -1, —1):
ifn%2==1:
display.set_pixel(i, k, 9)
n=n> 1

while True:

if button_a.was_pressed():
display.clear()
data2 = set_data()
x = set_parity(data2)
Plotx(0, x)
radio.send(str(x))

if button_b.was_pressed():
display.clear()
data3 = set_data()



set_parity(data3)
y = Rev(y, random.randint(1, 4))
Plotx(0, y)
radio.send(str(y))
b = radio.receive()

y

if b != None:
n = int(b)
if n >=0:

if check_parity(n):
display.clear()

display.show(Image. DIAMOND_SMALL)

Plotx(4, n)
sleep(1000)
radio.send(str(-1))

else:
display.show(NO_SMALL)
Plotx(4, n)
sleep(1000)
radio.send(str(-100))

elif n < -1:

display.clear()

z = set_parity(data3)

Plotx(0, z)

sleep(1000)

radio.send(str(z))

EEME
(1)

(RTFEIF7AILE :microbit-py—ens6-1)
from microbit import *
import radio

radio.config(group=1)
radio.on()
wait_for_ack = 0

while True:
if button_b.was_pressed():
wait_for_ack = 1
sstring = “hello”
radio.send(sstring)
b = radio.receive()
if b '= None:
if wait_for_ack == 0:
display.scroll(b)
sstring = “world”
radio.send(sstring)
else:
wait_for_ack = 0
display.scroll(b)

(2)
TS L%5L

(3)
(RTFEIT7AILE :microbit-py—ens6-3)
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from microbit import *
import random
import radio

radio.config(group=1)

radio.on()
data2 = 0
data3 =0

display.clear()

NO_SMALL = Image(
“00000:”
“09090:"
“00900:”
“09090:”
“000007)

def set_data():
data =0
for i in range(4):
data = data + random.randint(0, 1)
data = data << 1
return data

def set_parity(n):
c=0
m=n
for i in range(5):
ifm%2==1:
c=c+1
m=m>> 1
ifc%2==0:
n=n+1
return n

def check_parity(n):
m=n
d=0
for i in range(5):
ifm%2==1:
d=d+1
m=m>> 1
ifd%2!=0:
return True
else:
return False

def Rev(x, c):
a=1
aza<<{(c-1)
ifa&x==0:
return a | X
else:
return (a = 31) & x

def Plotx(k, n):
for i in range(4, -1, —1):
ifn%2==1:



display.set_pixel(i, k, 9)
n=n>>1

while True:

if button_a.was_pressed():
display.clear()
data2 = set_data()
x = set_parity(data2)
Plotx(0, x)
radio.send(str(x))

if button_b.was_pressed():
display.clear()
data3 = set_data()
y = set_parity(data3)

y = Rev(y, random.randint(1, 4))

Plotx(0, vy)
radio.send(str(y))
b = radio.receive()

if b = None:
n = int(b)
if n >=0:

if check_parity(n):
display.clear()

display.show(Image. DIAMOND_SMALL)

Plotx(4, n)

sleep(1000)

radio.send(str(-1))
else:

display.show(NO_SMALL)

Plotx(4, n)
sleep(1000)
radio.send(str(-100))
elif n < -1:
display.clear()
z = set_parity(data3)
Plotx(0, z)
sleep(1000)
radio.send(str(z))

7. HRERHE

71 EEE (RISUVITLRER)

(RTET74IL% :microbit-py—hat7-1-1)

GEER)
from microbit import *
import radio

radio.config(group=1)
radio.on()

while True:
pin2.write_digital(1)
radio.send(“1”)
sleep(4000)

17

pin2.write_digital(0)
pinl.write_digital(1)
radio.send(”2”)
sleep(1000)
pinl.write_digital(0)
pinO.write_digital(1)
radio.send(”3")
sleep(4000)
radio.send(“4”)
sleep(1000)
radio.send(”5")
sleep(3000)
radio.send(“6”)
sleep(1000)
radio.send("7")
sleep(1000)
pin0.write_digital(0)

(RBFET 744 :microbit-py—hat7-1-2)
(Z1ER)

from microbit import *

import radio

radio.config(group=1)
radio.on()

while True:

msg = radio.receive()

if msg == "1":
pin0.write_digital(1)
pinl.write_digital(0)
pin2.write_digital(0)

elif msg == "3":
pin0.write_digital(0)
pinl.write_digital(0)
pin2.write_digital(1)

elif msg == "4”:
pin0.write_digital(0)
pinl.write_digital(1)
pin2.write_digital(0)

elif msg == "5";
pin0.write_digital(1)
pinl.write_digital(0)
pin2.write_digital(0)

(BRFEI7AILEA :microbit—-py—hat7-1-3)
(H17ER)

from microbit import *

import radio

radio.config(group=1)
radio.on()

while True:
msg = radio.receive()
.

if msg == :
pin0.write_digital(1)



pinl.write_digital(0)
pin2.write_digital(0)
elif msg == “5":
pin0.write_digital(0)
pinl.write_digital(0)
pin2.write_digital(1)
elif msg == "7":
for var in range(0, 4):
pin2.write_digital(1)
sleep(100)
pin2.write_digital(0)
sleep(100)

7.2 LoAIFTAT—L (3 AXE)

(RTET 74 L4 : microbit-py—hat7-2)
from microbit import *

import radio

import random

radio.config(group=1)
radio.on()

count =0

d = [0, 0]
a=0
display.clear()

def hyouji(c):
display.clear()
Scissors = Image
(”99009:99090:00900:99090:99009”)
if c == 0:
display.show(Image. DIAMOND_SMALL)
elif c == 1:
display.show(Scissors)
else:
display.show(Image.SQUARE)

while True:
if button_a.is_pressed() and
button_b.was_pressed():

reset()

elif button_a.is_pressed():
a = random.randint(0, 2)
hyouji(a)

elif button_b.is_pressed():
radio.send(str(a))

s = radio.receive()

if s = None:
dlcount] = int(s)
count = count + 1

if count >= 2:
b = d[0]
c =d[1]

ifa==b and a==c and b == ¢ or

al=bandal!=candb!=c:

display.show(Image.CONFUSED)
sleep(1000)

elif (a+1) % 3 ==b or (a+1) % 3 == c:
display.show(Image.HAPPY)
sleep(1000)

else:
display.show(Image.SAD)
sleep(1000)

count =0

7.3 N/ 1 DEHEHEIZLDHERT)

(RTFEF7A LA :microbit-py—hat7-3-1)
from microbit import *
import radio

radio.config(group=1)
radio.on()

def send_pop(bar):
msg = (bar * 100) + 20
radio.send(str(msg))

def send_push(bar, n):
msg = (bar * 100) + 10 + n
radio.send(str(msg))

def hanoi(n, a, b):

ifn>1:

hanoi(n—-1, a, 6-a-b)
display.show(Image.HEART)
sleep(1000)
display.scroll(str(n))
sleep(1000)
display.scroll(chr(ord('@)+a))
sleep(1000)
display.show(Image. ARROW_S)
sleep(1000)
display.scroll(chr(ord('@")+b))
sleep(1000)
display.clear()
sleep(1000)
send_pop(a)
send_push(b, n)
ifn>1:

hanoi(n-1, 6—a-b, b)

while True:

if button_a.was_pressed():
n=3
display.scroll(str(n))
sleep(1000)
display.scroll("Mai”)
hanoi(n, 1, 3)
display.scroll("End”)

if button_b.was_pressed():
n=n+1
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display.scroll(str(n))
sleep(1000)
display.scroll("Mai”)
hanoi(n, 1, 3)
display.scroll("End”)

(RBFEIT74)L% :microbit-py—hat7-3-2)
from microbit import *
import radio

radio.config(group=1)
radio.on()

mynum = 3

class Bar:
def _init_(self):
self.stk = [0, 0, 0, 0, 0]
self.sp=0

def diskonoff(self, n, vy, I):
dr = [[2, 3], [1, 4], [0, 5]]
for i in range(dr[n—-11[0], dr[n-11[11):
display.set_pixel(i, vy, I)

def push(self, n):

self.stk[self.sp] = n

self.sp = self.sp + 1

for i in range(5 — self.sp):
self.diskonoff(n, i, 9)
sleep(500)
self.diskonoff(n, i, 0)

self.diskonoff(n, 5 — self.sp, 9)

def pop(self):
if self.sp > 0:
self.sp = self.sp — 1
n = self.stk[self.sp]
self.stk[self.sp] = 0
self.diskonoff(n, 4-self.sp, 0)

bar = Bar()
while True:
if button_a.is_pressed() and
not button_b.is_pressed():
mynum = mynum + 1
if mynum == 4:
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mynum = 1
display.scroll(str(mynum))
sleep(500)

if button_a.is_pressed() and
button_b.is_pressed():
display.clear()
if mynum == 1:

bar.push(3)

bar.push(2)

bar.push(1)

b = radio.receive()
if b '= None:
data = int(b)
if int(data / 100) == mynum:

cmd = int(data % 100 / 10)

n = data % 10

if cmd == 1:

bar.push(n)
elif cmd ==
bar.pop()
display.set_pixel(0, mynum — 1, 9)

7.4 BEIOTSL (FEERAE)

(RTFEF 74 JLE :microbit—py—hat7-4)
from microbit import *
import radio

radio.config(group=1)
radio.on()

while True:
if button_b.was_pressed():
sstring = “s” + "hello”
radio.send(sstring)
b = radio.receive()
if b '= None:
if b[0] == "s™:
display.scroll(b[1:])
sstring = “a” + “world”
radio.send(sstring)
else:

display.scroll(b[1:])



